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saclall wYg0 236 = oozl WYg0 2ac

(1) Jls

s2cla)l o 200 ML go boloi aio 250 ML Joles 15] HCl jaaxdl 1S 5 cunns|
rawYl asleoll 599 0.02 M b juS 5 NaOH

HCl ., + NaOH ,, - NaCl ,, + H,0
r0sSy Jolill dlass i
saclall wY¥g0 236 = jasxll WYg0 2ac
I Naow) = 11 mey
(M X V) yaon = (M XV) g
(0.02 x0.2) = (Mg x 0.25)
Myq = 0.016 M

(2) Jls

oo 20 ML o Lolai Jslss 13] 0.4 M 0,08 5 s3Jl HNO, Laoxll pz> cuws|
ragYl ablrall 599 0.2 M 048 5 LIOH sac el Jglxo

HNO; @ T LiOH (aq) LINO, @ T H,0 M

aq)

0sse ol dlass aic
saclall wY¥g0 226 = oozl WYg0 2ac

n (LiOH) — n (HNO3)

(MxXV) jon = MXV) pyos
(0.2x 0.02) = (0.4 x Vino3)
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Vinos = 0.01 L =10 mL

(3) Jls

Jslxo o 30 ML go Lolas aio 20 ML Jolss 15] KOH s il Jglno juS 5 |
ag¥| alsleoll 39 0.2 M o545 5 HBr Laoxll

oy Joleill dass aic
saclall wYg0 236 = jaexll WYg0 2ac

n (KOH) — n (HBr)

(MxXV)on=(MXV) g
(Mx0.02) =(0.2x0.03)
M., = 0.3 M

(1) Jlsaw

sxca)l Jolxo o 250 ML go lolei HCl jaaxdl Jolzo oo 400 mL Jslss 1]
.HCl &Yg0 336 cun>ls 0.4 M o5 5 KOH

H(2) Jlgw

ewSo,o0 Jsdxe oo 60 ML alsleal HI jas> Jsdxe oo 0.012 mol ek,
KOH 555 el 5,1l Jggzxo KOH pgumlis|

1(3) Jlsw
Jolxo 30 (200 ML) go Joleill ao;WI (g) 63> NaOH sxclall aliS cowsl
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(0.4 M o0,uS,5 HCI jaoxll
(40 g/mol = NaOH saclall adgoll alisJl)

:(4) Jlgw

5228l Jolxo o Lolai 0.2M o015 5 HCI janxdl Jolxo 0 200 mL Jolss,
525l agoll aliS)] dasd Lod 2.24G solws (X) sxclall aliS culs I3]s (X) aygall
T(X)

:(5) Jlsw

55 .1 L Jolxall oz quol iz slodl o axaS 8 KOH saclall oo 1.12 g !
curl HCl jaax)l Jslro o 30 ML go Jolaill Jslzrall 3 (o 60 mL o)
HCl Jolzo juS i

(56 g/mol = KOH saclall adgoll aliSIl)

:(6) Jlsw

W Jolxall Jb (0.3 M 0S5 53Ul KOH powbiod] xuuSsyoud Jslxo o mL
?J.)Lsdo r°| .5.).9[_9 pl o>

(7) Jlsw

NaOH Jslxo o 20 mL J] 0.4 M 0,55 HCl Jsdzo o 40 mL oyl
il Jolzoll PH o sl . 0.5 M 04uS
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